(2) U-BOLT SADDLE
(4) 3/8-16 x 3" HEX BOLT
(4) 3/8 SPLIT LOCK WASHER
TENON CLAMP SADDLE
CAST 356 ALUMINUM
(2) 3/8-16 BOLT (2) 5/16-18 U-BOLT
2] 3/8 KLAT WASHER (4] 5716 SPLITLOCK WASHERS
(2) 3/8 SPLIT LOCK WASHER V4] 2716 HEX NUTS
SWIVEL
CAST 356
ALUMINUM
THE INFORMATION CONTAINED IN LA E J
THIS DRAWING IS THE SOLE s
EESR%ETJC%(FDEIK\I{I\?RFf\AcRﬁET(')RA\’/\‘VLOLE MAST AN MOUNTIHG MARRWARE
WITHOUT THE WRITTEN PERMISSION e |
NOTES OF SKYBRACKET IS PROHIBITED. TENON MOUNT
1. STAINLESS STEEL HARDWARE, e W (SS)
2. YELLOW ZINC DICHROMATE bRAWN | TRC 5/19/11
SIZE | DWG. NO. REV.
PLATED FASTENERS AVAILABLE. A SS-SBIMSCK X
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: S5-58TM-SCK |SHEET OF




	Sheet1
	Drawing View1


